FHOEERRBSHAFTASRERAT-VYXESRRRAAS
FHOFE2ERSFRRESATAEB L/ L—F-IHREASXRARTFES

<KFRE—FTAUNEHEEE>

#A H <4M6&£E6A158 (L) - 168 (A)
E 1% BXTmHONE<S57Y)—F (ABCDa—F)
E F A O 68158 (1) 8:30L 68168 (A) 8:30
B & & E|MmLAWL
Z ot B B 6H15E(L) 1,334 9:00 HOF—LFRABRERBOINET
6816A(A) £F—L 9:00
HOBEER 6B15AE  HI1Re $2HEe #I3HE e BHHEE F6HA
9:30 10:40 11:50 13:00 14:10 15:20
EIRAITEOHSRT2040% IO Fa—IL
6816A(A) HIHE 9:30 F2HAFFEIHELTINETORa—)L
RBETEI2HSKRTONE IO Fa—)L
6/15(t) 6/16 (H) 6/15(t)
DINRAR | — — 17 + i H K
Al B1
9:30 9:30
A5 B5
14:10 14:10
#En(G)— —(19) B 2]
A3 B3
11:50 11:50
A B —()— —® - W
A7 B7
KA ZBH 5 = —_ 21 B I —
A4 B4
13:00 13:00
'F EE T 6 — e 9 |:|:| *
A6 B6
ALay —— 15:20 15:20
T EXE | — —_— 23 F T} —
= A2 B2
—_— 1 10:40 10:40 —_ —_
KFPF#E/i 8 — A | — 2 g M =
9'310 AZ
2 B 9 =— | A3 — 25 B} % H 3I
D2 C2
— 10:40 10:40
K F B 10 =—— — 26 & W —
D6 Cé6
ﬁ E _ ]] _15220 15120_ 27 E E
D4 C4
13:00 13:00 —_
il 12 e —_— 28t #H =
D7 C7
BB E0)— —() + % # &
11:50 11:50
B 8 &0)— — (0" B —
D5 C5
—_ 14:10 14:10 —_— —_
B i B 15 = — 31 K B —
D1 C1
9:30 9:30
K b 16 2K B ¥

X OHIOF—AF, F1ABIAGOa— 7 1y, F2REURIIME F — 282 =7 1y b,
K OFZHBIRAGIEL, H2AGOF —Lha—bE 7 43l B2RAG LIRRIIIE F— 22— 7 oyl



